Unit 1: Equations

Name:

L.

2.

3.

4.

5.

6.

7.

8.

9.

Solve for x: 1.5x =30

Solve for x: 0.6x+1.5=39

Solve for x: %x =-12

Solve for x: %x -1=5

Solve for x: 3.5x+54 =194

The solution of the equation 3(x + 3) = 12 is

A1 B. 2 C. 3 D. 4

Solve for x: %x +2=14

Solve for x: 6(x+ 1) = 4x

Solve for x: 5x+7=2x-2

10. Solve for x: 5x—2(x+ 1) = 10.
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11.  Solve for x: 5x—2(x+ 1) = 10.

12. Solve for x: 5x—1=3x+7

13.  What is the value of x in the equation
42x+1) =27+ 3(2x - 5)?

A 21 B. 9 c. 7%
14.  Solve for s: 7s+4(3 —s) =18
15. Solve for x: 15x-3(Bx+4)=6
A1 B. -4 C 3 D

16. What is the value of x in the equation

3 _ 5
Zx+2—zx—6?

A. —16 B. 16 C. -4 D.

17. If 2(x + 3) = x + 10, then x equals

A 14 B. 7 C. 5 D.

W=



18. What is the value of w in the equation
Sw+8=w-T7?

A 24 B. -0.2

C. —13.846 D. -36

19. What is the value of n in the equation
3n-8=32-n?

A, -10 B. -6 C. 6 D.

20. What is the value of x in the equation
6(x —2) =36 — 10x?

A. -6 B. 15 C. 3 D.

21. What is the value of p in the equation
8p +2=4p—-107

A1 B. -1 C. 3 D.
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22, If 3(x+2)—2(x+ 1) =8, the value of x is

A1 B. C. 5 D. 4

w|—

23. What is the value of m in the equation
2m—(m+1) =07

A1 B. -1 C. 13 D. 0

24. What is the solution for the equation x+ 1 = x+27?

A -1

1
2
C. all real numbers

D. There is no solution.
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